King Fahd University of Petroleum & Minerals
Electrical Engineering Department
EE205: Electric Circuits II (031)
Quiz 2
Name: K EY ID# Sec. 02

A balanced three-phase distribution line has an impedance of 1475 Q/@. This line is
used to supply two balanced three-phase loads that are connected in parallel. The two
loads are L;= 150 kVA at 0.8 pf lead, and Lo= 336 kW and 72 kVAR (magnetizing).

The magnitude of the line voltage at the terminals of the load is 2800~/3 V.
a) What is the magnitude of the line voltage at the sending end of the line?
: ) _ 3 e -T90 kv
S, = 15l e a?ﬂ-r'ffh‘ s - 149 -] ! VA

A P ' A
3 ey s AEE s T

. _ | i

Sy o G0 B¢ | Lo g5 A

| E5ie r.-;.\,_ff.n._.'t‘;' S ‘-"f-‘—-t' f-_'_k"_.-" —il

511?{; .f'w_u,-_na- clll,t L\ \J L \

< vifl, _
w  152-36 K _5429- . j2.4 ;___
= “aA ~ 2 300
| = I AT
Lan T e 213,549

(N " '?L - i‘
_‘Li,z"i‘i']_‘?'”‘):. 13.54 :1
9 2563 |

els J3(285¢1) = 494745V

b) What is the percentage of efficiency of the distribution line with respect to
average power?
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Good Luck,
Dr. Ali Muqaibel



